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01: int t001_main(){
02: 0/*000 1%/

- - }

int main(void){ int £001-main(){ 04: int £002_main(){
0 /*000 1%/ ?/ ooo 1/ 05: 0/* 000 2 */
¥ int £002_main(){ 06: }
T001.c 0 /000 2%/ 07: DODOOODID

o 08: int main
09: (int ac, char *av[]){
10: O switch(INT (av[1])){
11: 00 case 1: t001_main();

}
- - - 0oooom
int main(void){ int main(void){
. *
0o /*000 2%/ 0 t001.main();
} O t002-main();
£002.c 0oooom
o O return 0;

12: OO00O0OOOO PRINTDIV();
13: 00 case 2: t002_main();
14: 0000000 PRINTDIV();
15: 000000000

om 4 16: 0 }

17: O return 0;

18: }
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